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10/ 10km— iR & F 9 1837| i+ FE hahs ¥+ BT 05212
10|10km—fi% £z F 10 1830/ KH L\DF 144 493 INRTR 05223
10/ 10km—fi& &+ 11 1827 HIF ZEF YIb 43 Y elYiil 05230
10/ 10km—fi$ & F 12 1816| = T Hh4 Y4 T fBHm 0 52 40
10/ 10km— iR & F 13 1818/ lLO 1#F ¥¥4'F £AD L=t 05319
10/ 10km—fi§ & F 14 1872| AR V&H FUEP P R 0 54 02
10/ 10km— iR & F 15 1850\ % T E£= a8 3% J\ETH 0 54 02
10/ 10km—fi$ & F 16 1801|F Il F& EVZiE) RHFH 054 35
10/ 10km— iR & F 17 1831|51E BEF 174 Fh2 Li=Eitl 0 54 51
10/10km—fi§ & F 18 1826|IUA fHF TVvEr M &I 0 56 07
10/ 10km—fi& & ¥ 19 1879|KREF EHZE A" v13 WFHH 0 56 22
10/ 10km—fi§ & F 20 1864 AR IHHK IYES IR RHFT 0 56 56
10/ 10km— iR & F 21 1881|EEER %00 EAA" F5 Li=Eitl 057 08
10/ 10km—fi§ & F 22 1839|IUA FHE TYEL £33 == 057 15
10/ 10km— iR & F 23 1819/ 2JI] BHF 4ah7 43 RFHFH 057 37
10/10km—fi§ & F 24 1885 HES HETF J¥h'4 133 mEm 0 58 36
10/ 10km— iR & F 25 1804 L& BF E59¥ f43 RFFH 058 48
10/ 10km—fi$ & F 26 1883/l FEF ih 3% B 0 58 50
10/ 10km—fi& & ¥ 27 1825 4% SOH N URAY! et 0 59 00
10/ 10km—fi§ & F 28 1884|%5H7 <bb V-T2 957 RHAH 059 37
10/ 10km— iR & F 29 199238 BF ¥WAh7 743 L=t 059 39
10[10km—fi§ Zz F 30 1822/ #F ITEh 1Y73 ®iR™ 0 59 48
10/ 10km— % & F 31 1851 |3RH #% ¥h4 13 Li=Eitl 100 24
10/10km—fi§ & F 32 1805/fE A K =7& Y+ 3k RHFH 100 33
10/ 10km— iR & F 33 183216k BE YN FYh 193 BT 100 47
10[10km—fi§ Zz F 34 1855 & HER ahx Uik Hho 101 35
10/ 10km— iR & F 35 1814/ &I =& hAv'v 1%1 bt 101 37
10/10km—fi§ & F 36 1808 K& Il ES ISy WkaH L=t 101 53
10/ 10km—fi& & ¥ 37 1833/ATH BiE Y14 3 Y elYiil 102 01
10/ 10km—fi$ & F 38 1870 K SHF THE Y¥h SKESFHT | 10215
10/ 10km— iR & F 39 1841|#A &= 7¥4 k03 Li=Eitl 10315
10/10km—fi§ & F 40 1836 &K Fi 4ZEb Fik fBHm 103 21
10/ 10km—fi& & ¥ 41 1863 T3 #&FIF £54 143 WFH 103 32
10/10km—fi§ & F 42 1869 h'E HE Thivy niL fBHm 103 52
10/ 10km— iR & F 43 18744t £F&E ¥4 3k L=t 10418




10km

B H#B4% B |Fon— K8 2UHF TREETH |8
10[10km—fi§ Zz F 44 1871 3RAK #MF $hEr 193 fBHM 1 04 52
10/ 10km— iR & F 45 1846| K&l E# NI VES RFHFH 105 51
10/ 10km—fi$ & F 46 18823 FH Eh'VET FiHb RFH 105 56
10/ 10km— iR & F 47 1858 B A& &F IYEh 743 HEH 106 57
10/ 10km—fi$ & F 48 1865| EiR =F 9IfH HF3 AT 107 11
10/ 10km—fi& & ¥ 49 1862/ KK FIZE N T fBHH 107 14
10/10km—fi§ & F 50 1873|F8 FVU#i kb RFH 10715
10/ 10km— iR & F 51 1809 |RTH R Y14 %23 L=t 107 20
10[10km—fi§ Zz F 52 1829 [ER %&F 4h% %33 L=t 107 31
10/ 10km— iR & F 53 1842 |15k =F #b7 Y3792 L=t 107 31
10/ 10km—fi§ & F 54 1860 {RE EHR 1k 233 RHFH 107 43
10/ 10km— iR & ¥ 55 1875 Fi K F3E 77% HA'S wBHT 107 44
10/ 10km—fi$ & F 56 1820 #8H #li¥F PP V! RHFH 107 56
10/ 10km— iR & F 57 1859|JI[H U &H hI4" Eb2 Li=Eitl 107 57
10/ 10km—fi$ & F 58 1877|EFH R w4 F7 fBHm 108 55
10/ 10km— iR &+ 59 1834/ LA ki D14 1% Bl 109 21
10/ 10km—fi$ & F 60 1803|#Fi K EF=E AR'F YA RHFH 109 28
10/ 10km— iR & F 61 181185k £52T ARF 4V Li=Eitl 109 56
10[10km—fi§ Zz F 62 1821&/K MAE VY AIE] ®iR™ 110 10
10/ 10km— iR & F 63 1876|TH#+ ¥ 1747 ¥¥#2 5T 11053
10/10km—fi§ & F 64 186158 W>5C 77 193 ®iR™ 11107
10/ 10km— iR & F 65 1854 ik &FHE ThNYY hix RFFH 11122
10/ 10km—fi§ & F 66 1807 |2 A ®hid JFEY $711) fBHm 11136
10/ 10km— iR & F 67 1847|IUH HINF V4" 153 Li=Eitl 112 49
10/ 10km—fi§ & F 68 1852\ 545 #KE ahny 1Y) fBHm 11310
10/ 10km— iR & F 69 1880/ 8 F ab& 4=%4 473 Li=Eitl 11331
10[10km—fi§ Zz ¥ 70 1823 A3 =EF w0211 VA I 113 37
10/ 10km— iR & F 71 1824 | 7% BF )T i3 L=t 11414
10[10km—fi§ Zz F 72 1840|;F5 1A $74°F HA'T I 114 33
10/ 10km—fi& & ¥ 73 1866 tA7E EHRE Y7 1)) RFH 11612
10/ 10km—fi§ & F 74 1835/ F AR fE/I ¥Eb NI i 117 24
10/ 10km— iR & F 75 1867|/NE F& 147 FtA B 120 06
10/ 10km—fi$ & F 76 1845 B EH# 4 31% ®iR™ 12412
10/ 10km—fi& &+ 77 1813|784+ #F ~YL37 /)3 Fracmm | 12535
10/10km—fi§ & F 78 1812|#8H #{E DEE VIS i 12819




